@ewys
CBSE Class 10 Science Qs Paper 2019 SET-2
Series JMS/4 o NZ. 31/4/2
T .
Roll No. 2‘:@:; %’5’@3‘? IT-GfETH 5 TE-T8

Candidates must write the Code on the
title page of the answer-book.

o FRIAAR A h A THATFTH GLd I8 15 3 |

o THUA H gied FY FI AR fGu MU Swig TR I B IW-YEH 6 JE-I8 W
forg |

o FUA AR fh M IHATTH 27T F |

e THUIT UYA HT ST FEAT & i A Ug, U9 o shulieh oy ford |

e 3H UYW-UA hl Ugd & U 15 fire o owy fear mn 8 | w1 foawo
gaiE § 10.15 St TR ST | 10.15 91 & 10.30 91 0% BT hadl T9H-T3 ol
TeT 3R 39 Al o GRH o IT-JIEdeh! W hIs I T8l fore |

e Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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AT 7597 :

(i) 39 Fo7-97 HI qiel YT, 37, &, G, § 3R T F aier T 8 | 39s @4qt 9rn & e
& I fored & 1

(i)  @gt go7 SHarE &

(iii) Y&, G, ¢ 3K T & o 7 3Rk =97 397 T 8 |

(iv) MFT 37 & ¥97 G&IT 1 3K 2 TH-UF 37 & J97 8 | 579 I’ U Vg 379al T
FIFTH 378 |

(v) YFT T 3§97 G&IT 3 @ 5 31-31 3H] & F97 & | 379 I YT 30 VsG] 9% H 37
&/

(vi) T T & F97 T&I7 6 G 15 T7-T17 371 & J97 & | 579 I T 50 I5G] J3% 4
GTE |

(vii) YT § 3 ¥o7 G&I7 16 @ 21 Tia-9ie 3] & o7 & | §9% IR YT 70 91551 A%
7181

(viii) T T & F¥7 G&IT 22 T 27 FINTHSF HITT T TERT 31-31 371 & 397 8 | 579
R I G &

General Instructions :

(1) The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.

(iti) Internal choice is given in Sections B, C, D and E.

(iv) Questions number 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are to be
answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These are to
be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These are to
be answered in about 70 words each.

(viii) Questions number 22 to 27 in Section E are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.

HET A
SECTION A

1. fogga am i afvamn e ok sge S.1. A fafa | 1
Define current. Give its S.I. unit.

2. i % TR % 39 °UH () 1 A fARay S wEd et % qwEd g
e | TERIAT T g | 1
Name the component of sunlight which facilitates drying of wheat after
harvesting.
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SECTION B
3. U o 3¥add o IH fafay | 2

HAYAT

40 cm BIHH G % A GO % EHE G0 % Yd & 20 cm g W feord fepeft
forrsr & gdur grRT o wfdfers o = srfyaeon 1 g SET | 2

State laws of refraction of light.

OR
List four characteristics of the image formed by a concave mirror of focal
length 40 cm when the object is placed in front of it at a distance of
20 cm from its pole.

4. Tt diet grETd wfeferest & fidt i 3T IR 3R Freshid & @i
@it | 2
Draw magnetic field lines in and around a current carrying straight
solenoid.

5. 39 Hlad Ak T AW IR A g fAfaw fSres 319 # Q1 e WA &
ToT 5ok AT o |MY I “-ol” TN BT 7 | THRh HHIHT hl Tl &
I8 3fa HIfT foh 1 grar 8 <19 39 Afies 1 eTfere d1g HySO, & &1 T
fopa ST 2 | 2

Write the name and molecular formula of a carbon compound having its
name suffixed with “-0l]” and having two carbon atoms in its molecule.
With the help of a chemical equation indicate what happens when this
compound is heated with excess conc. HoSOy.

qaa e
SECTION C
6. 39 T e ) uftyrsy &fST | “faemma =1 wnifa < "9 98T /T S Hehat |7

39 H HI g & fow g i | 3

Define the term evolution. “Evolution cannot be equated with progress.”
Give examples to justify this statement.

7.  (a) Ued (Ne) # dbee 9 T8 g, R oft, afe gn fhe geesfier uew
%I TR B 7, Al 3! Il H J&0T A AT IREaH BId & | ST
SHIfT foh I8 UTgU SMRI I o A1 fhH ThR AT AT B 3R Ig
33fshaT ohE TohR E=ITTE it 2 |
(b) 39 g 1 9 feafge Freen fF=fatea & o fear sran 2
()  forell o9 g <t s § gfg & T |
(i)  Hal AR oS 5 hifSehT fourst w1 dig e % o | 3
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(a)

(b)

(b)

(a)

(b)

Plants do not have any nervous system but yet, if we touch a
sensitive plant, some observable changes take place in its leaves.
Explain how could this plant respond to the external stimuli and
how it is communicated.

Name the hormone that needs to be administered to

1) increase the height of a dwarf plant.

(i1)  cause rapid cell division in fruits and seeds.

e IAER 91 § ffefaa o it fafa
(i) AR (A1 W)
(i)  THE™ ¥ HCI

(i) T @
(v) & T
frafafaa Tomeal @ g 1 T SR fAf
(i) oA

(i) TS 3
Write the function of the following in the human alimentary canal :

(1) Saliva

(i1)) HCI in stomach

(iii)  Bile juice

(iv)  Villi

Write one function each of the following enzymes :

(1) Pepsin

(i1)  Lipase

9. UMRIG: Sl IcUG § YIEd B ATl i aav ‘P’ T foRr S W feReft o=
e ‘Q | ufEfdd & e 8 fees 3w e 6 herar i @ W H R
SITAT 8 99T s AW R’ Ic@fid gt 8 | 39 | R’ ! A &4 g4 b U g
TR U W FE AT B I @ | P, Q3R R’ I qgEIT SR S I
&1 gfe o fore TamfTe Txffet G | 3

Salt ‘P’, commonly used in bakery products, on heating gets converted
into another salt ‘Q which itself is used for the removal of hardness of
water and a gas ‘R’ is evolved. The gas ‘R’ when passed through freshly
prepared lime water turns milky. Identify ‘P’, ‘Q’ and ‘R’, giving chemical
equation for the justification of your answer.

31/412
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10. (a) To=faRaa sifsifsranset =1 fafie yog | affentor i
(1) AgNOg(aq) + NaCl(aq) —— AgCl(s) + NaNOg(aq)
(ii)  CaO(s) + HoO() —— Ca(OH)9(aq)
(iii) 2KClO(s) —2— 2KCl(aq) + 305(g)

(iv) Zn + CuSO4 —— ZnSOy4 + Cu

(b) F=fcRaa Hem =1 Ggfcta TAfTS THRT o €9 T IR hITIT
“Sfem Feirse, vifem Tethe @ Afulk sk TgUfem wss
R 9 Hothe AT 2 17 3

STt

& fordt Tt § W8 (ID) T13¢e 1 foaeem Jo 390 TIefiRm 3TeeEs &

foreram firera 2, @ IS 7989 S9aT 2 |

(a) 39 J1EEY 1 1 T BT 8 ? A&Ta i 1 9m fefau |

(b) 38 Afufsha @1 wqfera TS Trfis fifEw |

(c) ﬂ%@%wamﬁﬁwﬁqﬁsﬂaﬁqﬁmﬁr@m
Hehdl 8 | 3

(a)  Classify the following reactions into different types :
1) AgNOg(aq) + NaCl(aq) —— AgCl(s) + NaNOg(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)o(aq)
(i) 2KClOs(s) —2— 2KCl(aq) + 304(g)

(iv) Zn + CuSO4 —— ZnSOy4 + Cu

(b)  Translate the following statement into a balanced chemical
equation :
“Barium chloride reacts with aluminium sulphate to give
aluminium chloride and barium sulphate.”

OR
When potassium iodide solution is added to a solution of lead (II) nitrate
in a test tube, a precipitate is formed.

(a) What is the colour of this precipitate ? Name the compound
precipitated.

(b)  Write the balanced chemical equation for this reaction.
(c) List two types of reactions in which this reaction can be placed.
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11. Gfshaar 9oft # Fe8 SN fea argeni & fswuur 61 fafyr, dfseear aoft & wen
4 feora arqett & fassedv i fafer & form g fom 8 2 396 e oft g wfsean
FI TR SR Tt 7 ? 37 9Tqe o SRyl A ufshan w1 9 fafew | 3
How is the method of extraction of metals high up in the reactivity series
different from that for metals in the middle ? Why can the same process

not be applied for them ? Name the process used for the extraction of
these metals.

12. F=fafed sm@ 4 ¢ 99w Hg aas quie MU § e a9 faga am
vaTied & W ® | 39 W AU I YFErehl 9 EieeRt 39 werehl % =i
IR rarhia & J@rett 1 Yo ifew i grahia & T@rent i feon <ifera
HINT | 31 Ikl o A9 H TAW g W fod forg X W gresh &9
qRETo R 8 ? 379 I h gfee HIfT | 3

The following diagram shows two parallel straight conductors carrying
same current. Copy the diagram and draw the pattern of the magnetic
field lines around them showing their directions. What is the magnitude
of magnetic field at a point X’ which is equidistant from the conductors ?

Give justification for your answer.

31/412
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13. 4 % TS50 € 9 a1 3900 TR o 98907 1 1 SR & ? Th GaL h
e Th WY I fufa d W@ Q@ wduw s & el & fhft wee W
fiepa: smmafad voq YT o WEH S % 9¥ Wl g@id % fore femur smw
i | 3

Srqa
TS ST TehIUM &1 8 ? 9 TIESHT 1 ST shich SATEAT hifw, foh (i) FTeT
% T P EaW R YA BT 8, a1 (i) TTs AR i d= e sl
7| 3

What is the cause of dispersion of white light through a glass prism ?
Draw a ray diagram to show the path of light when two identical glass
prisms are arranged together in inverted position with respect to each
other and a narrow beam of white light is allowed to fall obliquely on one
of the faces of the prisms.
OR

What is scattering of light ? Use this phenomenon to explain why (i) the
Sun appears reddish at sun-rise, and (ii) the clear sky appears blue.

14. (a) WTplaeh SaRMEl 6l FAfHa g% T80 6l S Fefh Jerstasmansti i
fafirg |wrg <1 sTawEehar Bt B | & 2
(b)  3TIHEh FAT & ? AfG Torelt TTRaa & Tq=eshi o1 qUf &9 & I L fea
ST, T 3HehT ST IO BTN 2 379 3T o Tmedq § gfse Shifvw | 3
YT
FIIATEH h ITM TR T A fhd TR T 8 ? 3 Hawd 1 IgQ@ hioT, |
9% B % T & TR B ? NHH-3 1 T g1iw 7w fafen | 3

(a) Natural water bodies are not regularly cleaned whereas an
aquarium needs regular cleaning. Why ?

(b)  What are decomposers ? What will be the consequence if the
decomposers are completely eradicated from an ecosystem ? Give
justification in support of your answer.

OR

How is ozone formed in the upper atmosphere ? State its importance.
What is responsible for its depletion ? Write one harmful effect of ozone

depletion.

15. hA AT o AT o 7T TETEAT T Srg T BIal & 2 $Hoh AR ATl <hl =
SATST | 3
What is exploitation of resources with short term aims ? List its four
advantages.
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SECTION D
16. (a) AR BH Yg o (IWTET) T o Uiel T Hehi0T g S (ITUTE) T
Wl ¥ HOC a1 g6 Fy Tt o A & 119 T BId § | 319 A 7w Fy fied
% 3T L % UG} T WU Y, O g6 Fy T & TeT & e gred gid
7 |
()  Fp9E o e ha fowm <d @ 2
(i) Fo @i # o didi 3R &4 didi 1 7JuTd 1 7 ?
(iii) 3 WGl % FHR H HRU Had Ieo@ HiC 1 F, T F &1
1T Y, W Fy WiEl § gfeem=r & 7T |
(b) TESA 3T @1 & ? Ueh 3R ST | o Ig 3Tavdsh g feh GHeld
3T o YT gHIM TUH B 2 5

(a)  If we cross pure-bred tall (dominant) pea plants with pure-bred
dwarf (recessive) pea plants we get pea plants of F'; generation. If

we now self-cross the pea plants of F; generation, then we obtain
pea plants of Fy generation.

1) What do the plants of F; generation look like ?

(ii)) What is the ratio of tall plants to dwarf plants in Fy
generation ?

(iii) State the type of plants not found in F; generation but
appeared in Fy generation, mentioning the reason for the
same.

(b)  What are homologous structures ? Give an example. Is it necessary
that homologous structures always have common ancestors ?

17. (a) I Yada 6t qium fafau | saeht g fafemt < 9= samu |
(b) D TR & UIeUl sl ITH o foTu 38 Taen 1 3w <=1 fopan <iar 8 2
(c) HMIfehd ARWI < TERAT | TET H Gpod i Ufsham i =

I | 5
YT
mifRiy fF8 waa 8 7 suhl TR fafia fafm <t gt s | mifes gfeaat
Y o IR GH HRU fARGE | 5
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(a)  Define vegetative propagation. List its two methods.
(b)  Why is this mode practised for growing some types of plants ?

(c) Explain the process of budding in Hydra with the help of labelled
diagrams.

OR

What is contraception ? List its four different methods. State four reasons
for adopting contraceptive methods.

18. (a) Ve ¥ e fem & dm fafan |

(b) @ = A AR B, o1 TwT0] HHTR AN 20 AR 17 B, % SoI-
fomg fafgu | 9@ A 6 a8 B & Afufean g o9 Aifies o1 amfuaes
o forfay 3t sg@ Hife o6 a8 Afier el ? stean aig § st
3T B | 3194 IW AT gfee & fotw sprr i | 5

(a) List two limitations of Newlands’ Law of Octaves.

(b)  Write the electronic configuration of two elements A and B whose
atomic numbers are 20 and 17 respectively. Write the molecular
formula of the compound formed when element A reacts with
element B. State whether this compound is acidic, basic or neutral.
Give reason to justify your answer.

19. (a) TS IR g Afufpaet & &\, s & fou qamtes
grfteRten s TErar 9, fave fifs |
(b)  AHIfShd ITNE@ o G T S o Teh [shdhal[@ 1 €& § Ui
i | 5

AT

qTgA 3T 3uASish | = = 8 2 forefl o W ol faehE & gea ot e |
T <hl THTS TohAT T T8 | 3@ HIMT | To I Bl HR oI H €T gl
8, T T 1 ITANT 9gd I HT A31 BT ? 3 THET HT THEH 8 THR
fopa ST 8 2 5

31/412 9 P.T.0.

hitps:/ibyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

___________________________________________________________________ ____ .Sy
@evUs

(a)  Distinguish between esterification and saponification reactions
with the help of chemical equations for each.

(b)  With a labelled diagram describe in brief an activity to show the
formation of an ester.
OR
What is the difference between soaps and detergents ? State in brief the
cleansing action of soaps in removing an oily spot from a fabric. Why are
soaps not very effective when a fabric is washed in hard water ? How is
this problem resolved ?

20. (a) fagq wiw & afiumn @fT | dieear vV & @i & Bl @ @=fsa R

gferier o1 13 foregq amfer g Ioiar 3 | o 3R uferiyr & gl | wiferd
% foTu =2Ieres =geaa hIfr |

(b) 100 W; 220 V 3T 60 W; 220 V AT < fagd oed 9red | 220 V
% foaga o9 @ 99 § | seal gra 59 9 off =i aw 3| i | 5

A=

(a) Torell o <t wgrar @ 31y 98 fsepd fohm g fepretnt T v aiee i
foret St @ Sofishn & wAfSa i gfaigent Ry, Ry 3R Ry & aigy &
Tcdeh WM § T 9T Yd1iEd sl & 2

(b) = feu e gfmy w1 s1emE e, FEfilaa s i
1) 12 Q Ul & JaEd 9 |

() Aq 3 Ay UrSrienl § 1=, afe g 7 | 5
24 Q
_l+
T gV glzg
e
&)
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(a) Define electric power. An electrical device of resistance R is
connected across a source of voltage V and draws a current I.
Derive an expression for power in terms of current and resistance.

(b) Two electric bulbs rated 100 W; 220 V and 60 W; 220 V are
connected in parallel to an electric mains of 220 V. Find the
current drawn by the bulbs from the mains.

OR
(a) How will you infer with the help of an experiment that the same

current flows through every part of the circuit containing three
resistors Ry, Ry and Rj in series connected to a battery of V volts ?

(b)  Study the following circuit and find out :

(1) Current in 12 Q resistor.
(ii)  Difference in the readings of A; and Ay, if any.
24 Q

Ge

T gV glzg

21. IS S AT A1 @ 50 cm ¥ FHH U hl IEGSAT ! TS & oW Tl |
(a) 39 AT % gfee QW o1 W fafaw o 3@ g & 1 Gwrfad wron 6t
Sl ST |
(b) I TR | ¥ I G o g fopeor s wifem |

(c) 3H AV & MY & U Iqh g1 ST fopy I 9T &8 &1 YR
fafgu et 3uht aan uitesferd hifve | 7 <fifSw fos om= 99 =
ﬁih_c'%li25cm%|

(d) ST TRl | gfd I o Teed o foI Amwifeha i@ EifT | 5
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A person is unable to see objects distinctly placed within 50 cm from his
eyes.

(a) Name the defect of vision the person is suffering from and list its
two possible causes.
(b) Draw a ray diagram to show the defect in the above case.

(c) Mention the type of lens used by him for the correction of the
defect and calculate its power. Assume that the near point for the
normal eye is 25 cm.

(d) Draw a labelled diagram for the correction of the defect in the
above case.
CINEC)

SECTION E

22. Torelt gftigs o Rl W fawearm & 308 yarea foga a9 | v =&
ARH HH & o fafalaa - sgazen (vfmy) @& 8 i« 2 2

o e
éLHFIH &LMFI'—( QLFH'—( —+H;|"—(

Which one of the following is the correct set-up for studying the
dependence of the current on the potential difference across a resistor
and why ?

-
; ; ot e

oL, ol L]
S N S R R
%MH %FHH %MH =
A B C

31/412
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23.

24.

Fafafaa R e w1 s1eea hifve 3 38 ©fi=1 ° 6 g 6 = @
Ffeat & Tt ST | forw AB i feufa & dggey s a9 ufdfaes
arEafess feufa it aEe 1 qui & fau @ for s diwe 371 Jfeai
i i | 2

A
F, 2F,

212"1 B F'~1 9)

AT

forelt BT 1 fopelt g & fisw @ TorA arelt fohor 1 v i & 7 |
3= RO W i o 07T 38 gRT St S aTell <) draei-=n shi g
ST | 2
Study the following ray diagram and list two mistakes committed by the
student while tracing it. Rectify these mistakes by drawing the correct

ray diagram to show the real position and size of the image corresponding
to the position of the object AB.

A
F, 2F,

oF; B F, O

OR

A student has to trace the path of a ray of light through a glass prism.
List four precautions he should observe for better results.

3 3 Y& K g ST ek 3R W wg sy ke s wek R & it
TATsS T | fogued aidl 8 | 2

List two observations on the basis of which it may be concluded that the
given slide shows binary fission in Amoeba.

31/412 13 P.T.O.

hitps:/ibyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@BYUs
25. Ui 1 T & foru fopet ueht <t frgt o1 STEemft STRIw dOm s =
fafer & spHar =m =R fafan | 2
Jrra
“HPNT B4 S Hred SEATRTSS BISd &, IH QUM hl TS Heredl |
gefyd frafafed gt & 33 G

(i) B9 JFThR FATEh i aeg F1 T&d 7 ?

(i) YATPR FATEh o Hidt Wt B Weell ¥ W I a1 ugred &1 9
3R ITeh! et feaflm |

(Gii) TP il ¥ 9T SR A =g AT B 2 2

Write four sequential steps of the procedure of the experiment “Preparing

a temporary mount of a leaf peel to show stomata.”
OR
In the experimental set-up to show that “the germinating seeds give out
carbon dioxide”, answer the following questions :
1) Why do we keep the conical flask airtight ?

(ii)) Name the substance kept in the small test tube inside the conical
flask. Write its role.

(iii) Why does water rise in the delivery tube ?

26. IS IF INIH FANES TS H HISIH Tothe T8t THATal 2 | 39 el 9I8sey
H i W a8 B ®1 9iEdd 0 AT ? 370 IR h gfee hifu s

=TT hifoe fop o8 a1fed uieds fopE TR UTed X Hehdl 8 | 2
AT

(a) fmafafga argedt = FH fuframiaar & & (dJgd) %9 #

mﬁ%?ﬁﬁl’\l:
I, fofeh, Ufiem qen S

(b) IR Hewe faerm # g i W e & 30 fime & wwarq o1

e # gefeg fopT S arel &t Jeant < g ST | 2
31/4/2 |
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A student mixes sodium sulphate powder in barium chloride powder.
What change would the student observe on mixing the two powders ?
Justify your answer and explain how he can obtain the desired change.

OR

(a) Arrange the following metals in the increasing order of their
reactivities :

Copper, Zinc, Aluminium and Iron

(b) List two observations you would record in your notebook
30 minutes after adding iron filings to copper sulphate solution.

27. I3 fa@@a X pH 93 W 3Weh! HI3 §g TR W A0 T <a1 g, Fafh Hig 31
et v pH v W 38T g TR 92 goeht el T1 a1 2 | 39 gt foerel i
TR 1 7 2 X AR Y Tl o pH Feifa i | 2
A solution X’ gives orange colour when a drop of it falls on pH paper,
while another solution Y’ gives bluish colour when a drop of it falls on pH

paper. What is the nature of both the solutions ? Determine the pH of
solutions X’ and Y’
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